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Airbus (100 # 1% 14 p % B @ A ufh 28 %)

A300 B2-1A -~ B2-1C -~ B2K- ARW102# 8% 14

48,000 4= "% =« #c

3C ~ B2-20 #5 4] 2

A300 B4-2C -~ B4-103 # % 40,000 4= "% = #c

A K102 # 877 14
2

A300 B4-203 7 34,000 4= "% =% #c

AR102 % 87 14
P

A300-600 #3] 4 7]

30,000 4= "% =t #c | A ® 102 = 8 * 14
167,500 -] p=* p

A310-200 #3] 4 7

40,000 4= "% =t #c | A ® 102 = 8 * 14
/60,000 -] p= p

A310-300 # 4] s 71

35,000 4= "% =t #ic | A & 102 & 8 * 14
/60,000 -] p= p

A318 #7] 4 7

48,000 A="% =t #c | A W 105 & 2 ¥ 14
/60,000 -] p=* p

A319 #74] k 7

48,000 4= "% =t #)c | A W 105 % 2 * 14
/60,000 -] p=* p

A320-100 7] % 7

48,000 4= "% =t #)c | A ®W 105 % 2 * 14
/148,000 - pF p

A320-200 7] % 7 48,000 A= "% = #ic | A B 105 & 2
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/60,000 -] pF p
, 48,000 A= =t #c | A K105 # 2 * 14
A321 #7] &7
#3 ! /60,000 -] pF p
A330-200, -300 )
( W\/050 fjmil ) (non 40,000 4= "% =t < | A ®W 105 % 2 * 14
F Y /60,000 -] B | p
enhanced)
A330-200, -300 & #] % »]|33,000 42" St #c | A K105+ 2 * 14
WV050 family (enhanced) /100,000 -|- p# p
TEK ST ,
AKI105# 27 14
A330-200 § ¢ % 71 LR | g
76‘;:/:‘
A340-200 ~ 300 #7] % 7| .
20,000 4= "% = AR105# 27 14
(% WV 027 and WWV050 R AR
: /80,000 - p* A
family) (non enhanced)
A340-200 ~ -300 # A] ;% 7] 30,000 42" St #c | A K105+ 2 * 14
WV 027 (non enhanced) /60,000 -|- p= p
A340-300 # 4] % 2] WWV050 | 20,000 42 "% =t #& | A W 105 &# 2 * 14
family (enhanced) /100,000 -] p* p
16,600 4= "% =t & | A ® 105 % 2 14
A340-500, —600 %7
3l /100,000 -|- F* p
% 4 Ao i3
S A mi5E20 14
A380-800 54| % 7] Z g SO R & "
P5IT
Boeing (100 & 1 7 14 p % B~{F [ TH¥)
60,000 4= "% =t # | A ® 105 % 2 * 14
B717 7
#3 /60,000 -] p* p
A K102 8% 14
B727 (%3 47 4 71) 60,000 4= " = #c ;m
B737 (Classics) : B737-100 ~ )
) AR 102# 8 14
—200 ~ -200C ~ —-300 ~ 75,000 4= "% =% #c ]
—400 ~ -500 5 7)
B737 (NG) ,
, AR105# 2% 14
B737-600 ~ —700 ~ —700C ~ — | 75,000 4= ** =% #&« ]
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—900 ~ —900ER #% 4]

B747 (Classics) : 747-100 ~ —

100B ~ —100B SUD -~ —200B ~ — K102 & 8¢ 14
20,000 4= *% =
200C ~ —200F ~ —300 ~ 747SP - R p
747SR 5 7
B747-400 : 747-400 ~ —400D - % K105 & 2 ¢ 14
20,000 4= *% =
_400F #] i
LR 1052 2% 14
B757 1 50,000 4= % = #c ; "
LR 1052 2% 14
B767 1 50,000 4= ¥ = # ; "
s J 105 % 2 ¢ 14
B777-200 ~ —300 40,000 4= "% = #c . "
3 F 106 & 27 14
B777-200LR~777-300ER #54] | 40,000 4= * = #ic ; s
% B 106 & 2 7 14
B777F 2 11,000 4= *% = #c . "
Bombardier (100 # 1 7 14 p %3 @ 3| ulig 238 ¥ )
CL-600 :
2D15 ( Regional Jet # 7] 4 7 AE106E 2% 14
(Reg B e 000 v e | P
705) -~ 2D24 (Regional Jet % p
A % 51 900)
Embraer (100 # 1% 14 p % 2@ | Yk 28 ¥
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ERJ 170 s 2 g HUTH R & ; "
e
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F.28 Mark 0070 ~ Mark 0100 ¢ | 90,000 4= *% = | % F] 102 £ 8 * 14
3 #c p
Lockheed (100 # 1% 14 p %@ 4| ulf TE¥ )
L1011 47 36,000 4=" = #c | 2 ® 102 & 8 7 14
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188 57 26,600 42" = #c | L ® 102 £ 8 * 14
2
20,000 4= "% =x #c | A K 102 # 8 * 14
382 (#1% % 7|
(573 $3LE 7D /50,000 /|- p& n
McDonnell Douglas (100 # 1 * 14 p " B~F 3| %W T & ¥ )
50,000 4= =t #ic | 2 B 102 & 8 * 14
DC-8, —8F 4=
b3 /50,000 |- p p
100,000 4="% = | 2 ® 102 & 8 * 14
DC-9 MD-80 models
2 F ) #/100,000 -] g% | p
MD-80 # : DC-9-81 ~ 82~ —[50,000 42" = #c | = ® 102 & 8 * 14
83~ -87 - MD-88 /50,000 /|- p& p
60,000 4= = #c | 2 F® 105 & 2 * 14
MD-90 %
b3 /90,000 |- p% p
42,000 4= o #ic | A F® 102 & 8 * 14
DC-10-10, -15 #¥=
3l /60,000 -|- p 2
DC-10-30~-40~-10F ~—30F ~ [ 30,000 4= "% = #c | = & 102 # 8 *» 14
_40F #57 /60,000 -] P 2
42,000 4= o #ic | A 105 & 2 7 14
MD-10-10F 5=
b3 /60,000 /|- p p
30,000 4=*% =t #c | R K 105 & 2 7 14
MD-10-30F %=
L /60,000 |- p% p
20,000 4= = #c | 2 K 105 & 2 ¢ 14
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3l /60,000 /|- p 2
102 #87% 14 p &
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Airbus
Caravelle # = 15,000 4= *% =x #/24,000 -] p&

Avions Marcel Dassault

Breguet Aviation Mercure 100C ] | 20,000 4= "% =t #c/16,000 |-

Boeing

Boeing 707 #53] (-100 ~ -200 4] %
g 707 #31 ( B 20,000 407 =

1)

Iiloimg 707 #4] (-300 ~ -400 #7] % 20,000 4= ¥ % #c
Boeing 720 4] 30,000 4= *# =t #c
Bombardier

CL-44D4 %2 CL-44]) 7 20,000 4= "% =% #
BD—700 #% ] 15,000 -|- P
Bristol Aeroplane Company

Britannia 305 #% 7| 10,000 A= *% =% #c
British Aerospace Airbus, Ltd.

BAC 1-11 (#73 #31) 85,000 4= "% =t #

British Aerospace (Commercial Aircraft) Ltd.

Armstrong Whitworth Argosy A.W.

20,000 4=*% =
650 series 101 #% 7 e

BAE Systems (Operations) Ltd.

BAe 146-100A (#t% #4]) 50,000 A= "% =< #&
BAe 146-200-07 44| 50,000 4= "% = #
BAe 146-200-07 Dev # % 50,000 4= =

BAe 146-200-11 44| 50,000 4= "% = #ic
BAe 146-200-07A # 7 47,000 4= *5 = #&
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BAe 146-200-11 Dev # %

43,000 4= "% =& #c

BAe 146-300 (*r% #4])

40,000 4= "% =& #c

Avro 146-RJ70A (#7% #3])

40,000 4= "% =« #c

Avro 146-RJ85A % 146-RJ100A
(“T5 $3)

50,000 4= "% = #

D & R Nevada, LLC

Convair Model 22 7

1,000 A= "% =t /1,000 -| P

Convair Model 23M 4% ]

1,000 4= *% =% %c/1,000 -] p=

deHavilland Aircraft Company, Ltd.

D.H. 106 Comet 4C # 7| 8,000 -|- p#

Gulfstream

GV $#3 40,000 -

GV-SP %7 40,000 -| p=

Ilyushin Aviation Complex

IL-96T %] 10,000 4= "% =t #/30,000 -] p*
Lockheed

L-300-50A01 &%

20,000 A= "% =& #c
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